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S gk~ gk = gk = BT 1N ] kT ET3 188 S gk (=) (~2)
ko 317 1,022,412
1 4 # (TPE) 2 A GF RO PR 19 935
2 4 # (TPE) =~ = (KIX) % w205 (ANC) 7 4% (ORD) % w05 (ANC) < B (KIXD |4 4 (TPE) 4 28, 213
3 % # (TPE) < (KX % s iin (ANC) 7 4 # (ORD) % e (ANC) 4 # (TPE) 1 28,213
4 4 # (TPE) =~ = (KIX) 5 2,554
5 4 # (TPE) < B (KIX) B 5 (AKL) ¥ & L (SFO) 4 10, 936
6 4 # (TPE) A4 " (KKJ) L (% 2 )(NRT) 1 2,140
7 4 # (TPE) + 8 (KUL) 2 3, 247
8 % # (TPE) t+ & (NGO) F % 783 (CVG) 5 12, 339
9 % # (TPE) % s (ANC) I # i~ (ATL) i 2 27 (DFW) % e (ANC) 4 # (TPE) 6 29,918
10 |4 (TPE) % sudin (ANC) 7 4 & (ORD) % sudie (ANC) < B (KIX) 4 # (TPE) 1 28, 213
11 |4 # (TPE) % s din (ANC) 7 4% (ORD) % w05 (ANC) % # (TPE) 6 24, 052
12 |4 # (TPE) % sudin (ANC) 7 4 & (ORD) & e B (SEA) 4 # (TPE) 2 27,776
13 |4 # (TPE) % s din (ANC) = 5 (JFK) % w05 (ANC) % # (TPE) 4 29, 711
14 |% 2 (TPE) % sudin (ANC) & 5 (JFK) & 2 B (SEA) % # (TPE) 1 29, 711
15 % (TPE) % 5.3 05 (ANC) & 9 (JFK) & 7 B (SEA) % w75 (ANC) % #* (TPE) 1 29, 711
16 |4 # (TPE) % sudin (ANC) #e g (MIA) kL & (1A % sudie (ANC) 4 # (TPE) 2 32, 667
17 |4 # (TPE) % s din (ANC) #e g MIA) ¥ & L (SFO) % # (TPE) 2 17, 685
18 |4 # (TPE) % sudin (ANC) I # g~ (ATL) % sudia (ANC) = = (KIX) 4 # (TPE) 3 29, 251
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3y sl — e A (K1)

¢ER K 105H#
. i~ it SRREE|  RRLAE
S gk~ gk = gk = BT 1N ] kT ET3 188 S gk (=) (~2)

19 |4 (PE) % #4255 (ANC) 24528 (LAY) %A p0(ANC) |4 4 (TPE) | 29, 438
20 |4 (TPE) % #4255 (ANC) & 4 25 (DFV) %4 (ANC) |4 4 (TPE) | 24, 676
21 |4&# (TPE) % 495 (ANC) & £ 27(DFW) & £ (SFO) % 5455 (ANC) 4 # (TPE) 2 25, 381
22 |4 4 (TPE) % 24255 (ANC) & 424 (DFV) 242 (LAY) % #4255 (ANC) £ (TPE) 2 25, 681
23 |4 # (TPE) % #4255 (ANC) § 4N 6 12,583
24 |4 4 (TPE) 24 2. (CRK) R 1 (CAN) 12 2, 282
25 |4 # (TPE) £ 2 (CRK) 6 1,102
26 |4 (TPE) ﬁ)w?; PEEE s b (PRG) b 4 #(LUX) ﬁ)w?)ﬂ PASEE )y (TPE) 2 23, 275
27 |4 (TPE) ﬁ)w?; PASEE i s(TRY) 4 # (TPE) 1 20,818
28 |4 (TPE) ﬁ)w?; BALEE e ‘éwgﬂ L P | 23, 224
29 |4 (TPE) ﬁ)w?; e 1 6, 548
30 |4 # (TPE) ¥ (BOW) TRE T EGRD B & ELU) I 12, 906
31 |44 (TPE) ¥ (BOW) F 12 (GN) I 9, 409
32 |4 # (TPE) #3 (% 1 )(NRT) 10 2, 896
33 |4 4 (TPE) % % (NKG) I 3, 061
34 |44 (TPE) 12 (LAY) <R KN 4 # (TPE) 3 25, 164
35 |44 (TPE) 12 (LAY) ¥ & 1 (SFO) 4 # (TPE) 4 25,399
36 |4 4 (TPE) 12 (LAY) 5 % B (SEA) £ 4 (TPE) | 29, 252

56
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S gk~ gk = gk = BT 1N ] kT ET3 188 S gk (=) (~2)

37 |4+ (TPE) 24285 (LAX) 3 21,884
38 |4+ (TPE) b (SEN) = i CHAN) £ # (TPE) 2 6,012
39 % # (TPE) = & (CKG) 2 2,929
40 |4 CTPE) FECGE AN % w45 (AN 2425 (LAD) 1 11, 346
41 % 4 (TPE) % & (HKG) 45 941
12 |4 (TPE) 4 # (HKG) % %4255 (ANO) 33 70 (CV6) 1 13, 946
43 |4+ (PB) % i (HKG) 5 13 (NNL) 4 # (TPE) I 3, 046
44 |4 (TPE) 5 R 4 (INL) 1 2, 340
45 |4+ (PD) 5 13 (L) 4 i (HKG) 4 # (TPE) I 3, 144
46 |44 (TPE) b e GR e BRE) | R s (NS) (8 & (R )(BRK) [ 4 (TPE) 2 24, 330
47 |4 (TPE) 8 Gt ) (BKK) 1 2,503
48 % 4 (TPE) § A(F™~p 7 )(BKK) | p (HAN) % 4 (TPE) 3 5, 127
49 |4 (TPE) 8 5 (=3 F)BKK) |= 2 (GYD) B & E(LUD) 2 12,297
50 |4 # (TPE) 24 (STX) 14 1,176
51 |4 # (PE) % 4c 2 (CGK) & 12 (KUL) 4 # (TPE) 3 8, 184
52 |4+ (TPE) % P OO 1 891
53 |4+ (TPE) 3401 (SIN) 5 R 3 (INL) £ # (TPE) 2 1,330
54 |4+ (TPE) #4e  (SIN) § 5 (3~ )(BKK) |4 4 (TPE) 5 7,764
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S gk~ gk = gk = ELA 13 2 E73. 18 ET3 188 S gk (=) (~2)
55 |4 (TPE) 743 (SIN) 2 8,028
56 |4 # (TPE) 3740 £ (SIN) #i % (PEN) 4 # (TPE) 2 6, 942
57 |4 (TPE) #7418 (SIN) % % (HKG) % # (TPE) 2 6,618
58 |+ # (TPE) 37a @4 % (OVB) I A F(LUX) 1 11, 045
59 |47 (TPE) % i (NGB) 10 933
60 |4 (TPE) i (FOC) 6 843
61 |4 (TPE) A ' (CAN) 9 1,248
62 |4+ (TPE) 4.2 (DEL) B % F(LUX) 4 # (TPE) 1 21, 209
63 |£ 7 (TPE) #:4 (CG0) 1 2,532
64 |4+ (TPE) #i % (PEN) # 1 (HAN) 4 # (TPE) 3 5,511
65 |47 (TPE) # % (PEN) # AP (SEN) £ # (TPE) 2 7,624
66 |4+ (TPE) B & (GUM) 8% L (HNL) 1 8,123
67 |& & EFLUXO 2 RE = % (KRW) 4 # (TPE) 2 10,128
68 | 4 EF(LUX) 5 #03 #(MCT) 4 # (TPE) 1 12,501
69 | & ELUO #F =)0 4 # (TPE) 1 11, 589
70 | e (KUL) + % (KCH) 5 £ 3 (MNL) 4 # (TPE) 1 4,022
71 |3 s (KUL) 5 2 3 (MNL) £ # (TPE) 1 3, 662
72 |% % 785(CV6) % 7455 (ANC) L& (% =7 )(NRT) # f (iz")(ICN) |4 # (TPE) 1 13, 252
73 |3 3 783(CV6) % 545 (ANC) # (=) (ICN) 4 # (TPE) 1 12,578
T4 |33 7835 (CV6) % 7 (2 9 )(NRT) % (i= ") (ICN) % # (TPE) 3 13,210
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¢ R 105
A% o SaErakk| ML
S gk~ gk = gk = ELA 13 2 £ 1y ET3 188 S gk (=) (~2)
75 |33 78 (CV6) %4 (2 )(NRT) 4 # (TPE) 1 12,703
76 |3 3 783 (CV6) # (=) (ICN) 4 2 (TPE) 1 12, 415
77 % 54205 (ANO) % (=) (ICN) 4 # (TPE) 2 7,565
78 |% £ (ANO) 4 # (TPE) #7401 (SIN) 1 10, 741
79 |% L£5(ANO) 4 # (TPE) % % (HKG) 1 8, 298
80 & (%= )(NRT) |4 (TPE) 7k (0KA) 12 2,780
81 |4 & (HKG) 4 # (TPE) % 7.45 (ANC) 6 8,331
82 |4 % (HKG) 4 # (TPE) % # (8 )(NRT) 10 2,958
83 |4 (HKG) 4 # (TPE) * IR (KIX) 2 2,524
84 |4 # (HKG) 4 # (TPE) % i# (HKG) 7 807
85 |4 5 (PEN) 4 # (TPE) 5 3,135
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